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BCTYN

[aHi MeToOu4HiI BKasiBKM Mpu3HadeHi Ons CTyOeHTiB 2
Kypcy akyfibTeTy €KOHOMIKM TPaHCMopTy 3ao4HOl doopMu
HaBYaHHS.

MeToguyHi BKasiBKM CKNagalTbCA 3 TakuxX po3aisii.:
ayOUTOPHI TEKCTM 3 BnpaBaMu, TEKCTU ANd no3aayamnTopHOI
poboTn.

[1in yac poboTn 3 TekcTaMn YPOKIB yCi HE3HAWOMI crnosa
cnig sunucyBaTu. YcCi BnpaBum 0OOB’SA3KOBO MOBUHHI  ByTH
BWUKOHaHI y 30LUNTI, SKMW HagaeTbCcA Ha 3anik. [lodaayguTopHi
TEKCTU PEeKOMEeHOYETbCA BUKOPUCTOBYBATW Mif Yac MigroTOBKK
oo icnuTie. lNpn nepeknagi TekcTiB NOTPiIBHO BUKOPUCTOBYBATU
aHrno-yKpaiHCbKui abo aHrno-poCiNCbKNN CIOBHUK 0BCArom He
MeHLW Hixk 20 000 cnis.

Tinbkn nNpaBunbHa opradizauis camMocTiHOI poboTn Ta
cUcTeMaTUYHI 3aHATTS MPOTArOM POKY MOXYTb 3abesneuntu
ycnilHe 3acCBOEHHA HaBYaribHOro maTepiany.

NMopsaaoK BUKOHAHHA KOHTPOJSIbLHOI po6oTH

KoHTpornbHa poboTa BUKOHYETLCS B OKPEMOMY 30LUUTI, Ha
obknaguHui sikoro Tpeda BkasaTu Ha3BW HaBYanbLHOro 3aknagy,
kadeapu, AUCUMNIIiHW, HOMEP KOHTPOSbHOI poboTn, npissuLLe
Ta iM'a CTyQEHTa, a TakoX MOoro Wwundp Ta cneuianbHIiCTb.

KoHTponbHa pobota Mae n'daTb  BapiaHTiB,  SKi
BMU3HA4YalOTbLCA 3a OCTAHHbLOK LNGPOIO CTYOEHTCLKOro WwWudpy:

1, 2 — BapiaHT 1;

3, 4 — BapiaHT 2;
5, 6 — BapiaHT 3;
7, 8 — BapiaHT 4;
9, 0 - BapiaHT 5.

[Mpn BUKOHAHHI KOHTPOSbHOIT poboTK cnig AoTpUMyBaTUCH
nogaHoro nopsiaky 3aBaaHb. TekcT nepeknagy Tpeba nucatu
Ha CTOPIHUiI HAanNnpPOTU TEKCTY aHrMiNCbLKOK MOBOHO.

[licns nepesipKX, AKLWO € MOMUSIKU, BUKOHYETLCA poboTa
Hag NoMurikamu, i BUNpaBSfieHHA 3anUCYTbCA B KiHLI 30LWMTa.



KOHTpONbHI poboTM MOBWUHHI NogaBaTUCb BYACHO, Y TEPMIH,
BU3HAYE€HUW HaB4YarbHUM NiaHOM.
YactuHa 1

TEKCTW Ongd AYOUTOPHOI POBOTU
BapiaHT 1
| Read and translate
Text

Studying economics for the first time, it is necessary to
know what economics is all about'. Unfortunately, it is not
possible to define the subject by a single word. Economics was
defined as the study of mankind in the everyday business life.
This means that economics deals with production, distribution,
exchange and consumption. It answers such questions as: How
do we produce all the things we need? How are prices
determined? Economics is also concerned with?
unemployment, inflation, international trade, the interaction of
business and labour, and the effects of government
spending® and taxes.

Economics does not stop with the description of economic
activity because description alone leaves unanswered many
important why and how questions.

Economics is a social science like history, geography,
politics, psychology and sociology. It is the study of human
efforts to satisfy what seems like unlimited and competing
wants* through the careful use of relatively scarce resources.
Economists study what is or tends to be and how it came to be.
They do not in any way pretend to tell what ought to be. People
must make up their own minds® about that.

Economics is therefore concerned with activities relating to
wealth, i.e. production, consumption, exchange and distribution.



For our own purpose, we shall define economics as the
study of man in his attempts to gain a living® by utilizing his
limited resources.

COMMENTS

1 ... what economics is all about — w0 cknagae ekoHOMIKy

2 to be concerned with — matu cnpasy i3; 3anmaTucs

3 the effects of government spending — eeKkTUBHICTb

ypagoBux sutpart

4 ... unlimited and competing wants — HeobmexxeHi noTpebu,
LLIO NOCTINHO 3POCTalTh

5 to make up one’s own mind — BupillyBaTn camomy

6 to gain a living — 3apobnaTtu Ha XUTTS

Il Find equivalents:

1) for the first time a) HeobmexeHi noTpebu
2) production 6) posnogain

3) distribution B) CNOXWBAHHSA

4) exchange ) BAPOOHULTBO

5) consumption 0) yneptue

6) to determine price €) HeaocCTaTHI pecypcu
7) international trade X) BUpilLyBaTU caMmoMy

8) unemployment n) 0bMiH
9) scarce resources K) 6e3pobiTTa
10) unlimited wants n) obmexeHi pecypcu
11) to make up one’s M) BU3HaA4aTu LiHY

own mind H) MbXKHapodHa TopriBns
12) limited resources n) nogaTku
13) to gain a living p) 3apobNATU Ha XKUTTH
14) taxes

lll Complete the following sentences:

1 Economics was defined... . 2 It answers such questions
as ... . 3 Economics is also concerned with ... . 4 It does not
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stop with the description of economic activity because ... .
5 Economics is a social science like ... . 6 Economics is the
study of ... .

IV Match each term in Column A with its definition in Column B:

Column A Column B

1) economics a) Something in short supply; not
enough to meet  demand.

2) production b) Activity of buying and using
goods.

3) distribution c) The creation of services or the
changing of material into
products.

4) exchange d) The activity of selling goods and
services in order to make a profit.

5) consumption e) The production, distribution and
sale of goods and services for a
profit.

6) business f) The movement of finished

products from
the manufacturing location to the
marketplace.

7) trade g) The social science that describes
and analyzes how society
chooses from among scarce
resources to satisfy its wants.

8) scarce h) The process of trading or
bartering one unit or set of goods
or services for another unit or set.

V Answer the following questions:

1 What is necessary to know studying economics for the first
time? 2 What does economics deal with? 3 What questions does
economics answer? 4 Why does economics not stop with the
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description of economic activity? 5 What kind of science is
economics? 6 What does economics study? 7 What do
economists study? 8 What must people make up their own minds
about? 9 How shall we define economics?

VI Translate into English:

1 HemMOXnMBO BM3HAYUTU  E€KOHOMIKY OOHWM  CINOBOM.
2 [EkoHOMiIKa BM3Hayanacss $SK 68UBYEHHS wocmea 8
rnoscsikoeHHomy OirnogomMy xummi. 3 EKoHOMiKa Bignosigae Ha
NMUTaHHA: SK  8u3HadYaembcs UiHa? 4 EKOHOMiIKa He
BUYEPrNyETLCA OMUCOM €EKOHOMIYHOI AisinbHOCTI. 5 EkoHOMICTH
BUBYAKOTb 3yCcuUnngd JIOOWHW, CNpsiMOBaHi Ha 3a40BOJSIEHHS
CBOIX HeobmexeHux noTpeb | BogHo4Yac Ha Oepexnuee
BUKOPUCTaAHHA BIOHOCHO HeOOCTaTHIX pecypciB. 6 Y4yeHi B
XOOHOMY pasi He MaloTb HaMmipy poanosigath Npo Te, WO Mae
bytn. 7 OTXe, eKkoHOMiKa noB'A3aHa 3 [AianbHICTIO and
3abeasneyveHHst 4OOpoOyTY.

Supplementary reading

Services play an important role in British economy and
make up' an increasing proportion of the national income?.
They account for about 60 per cent of gross domestic product
and 68 per cent of employees. This sector includes health,
education, retail and wholesale trade®, tourism, financial and
business services, insurance®, transport, etc.

Banking, finance, insurance, business services and leasing
account for 14 per cent of the British economy’s total output.
London has the world’s largest insurance market, and its banks
are responsible for® about a fifth of the international bank
lending. London is the world’s principal trading centre for
commodities, as well as an increasingly important centre for
financial futures markets.

Britain’s banking system comprises the Bank of England, the
commercial banks, branches of foreign and Commonwealth
banks® and building societies’. The Bank of England acts as
the government’s bank. It helps to implement the government’s
financial and monetary policy and supervises the banking
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system as a whole. Commercial banks provide financial
services to individuals and companies, particularly account and
loan facilities. Building societies accept deposits® and arrange
mortgages® for house purchase. They also offer home loans
and a wide range of banking and insurance services.

Britain has an open economy, in which international trade
plays a vital role. About one-quarter of its gross domestic
product comes from the export of goods and services. It is the
fifth largest trading nation in the world. Since 1973 Britain has
been a member of the European Economic Community, an
association of 12 democratic states. About half Britain’s trade is
with its European Community partners. Britain’s main exports
are automobiles, textile, machinery, aircraft, electronic equipment
and many others.

COMMENTS

1 to make up — cknagatu

2 national income — HauioHanbHU goxia

3 retail and wholesale trade — po3apibHa Ta onToBa TopriBss

4 insurance — cTpaxyBaHH4

5 to be responsible for — BignosigaTt 3a, OyTK
BianoBsiganbHUM 3a

6 Commonwealth banks — 6aHkun CniBopy>XHOCTI

7 building societies — xuntnoBo-byaisenbHi ToBapmucTBa

8 to accept deposites — npurmaTu Bknagu

9 mortgage — 3actaBa

Answer the following questions:

1 What is the role of services in British economy? 2 What
services does this sector include? 3 What does Britain’s
banking system comprise? 4 What do you know about the Bank
of England? 5 What kind of services do commercial banks
provide? 6 What do building societies offer to their customers?
7 What can you say about international trade of Great Britain?
8 What are the main Britain’s exports?
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BapiaHT 2

| Read and translate
Text

Economics like any other social science has its own
vocabulary. To understand economics, a review of some key
terms’ is necessary: needs?, wants®, and demands*.

A need is a basic requirement for survival. People have
basic needs such as food, clothing and shelter. People also
have higher level needs, such as communication, love,
acceptance, knowledge, hope and accomplishment.

A want is a means of expressing a need. Food, for
example, is a basic need related to survival. To satisfy this
need, a person may want a pizza, hamburger or other favourite
food. That is there are any number of foods that will satisfy the
basic need for food.

The point is® that the range of things represented by the
term «want» is much broader than those represented by the
term «needy.

Sometimes the difference between a want and a need is
clear, at other times, it is not.

A basic need is reflected in a want for a particular
product®. A want cannot be counted in the marketplace until it
becomes a demand — the willingness and ability to purchase a
desired object. Since an individual has limited resources, only
some wants will end up as measurable demands’.

COMMENTS

1 key terms — OCHOBHi TepMiHU
2 needs — noTpebu
3 wants — 6axkaHH4
4 demand — nonut



5 the point is — piy y Tim, W0
6 particular product — neBHun npoaykT
7 measurable demand — ypaxoBaHun nonut

Il Find equivalents:

1) measurable
demands

2) requirement

3) expressing a need

4) social science

5) basic need related
to survival

6) demands

7) hope and

accomplishment

particular product

wants

10) key terms

11) favourite food

12) the point is

13) shelter

14) higher level needs

a) cycninbHa Hayka

6) OCHOBHiI TEepPMIiHU

B) BaXKaHHS

r) nonut

) OCHOBHI NoTpedu

€) XKUTNOo

) OCHOBHa BMMoOra ans
BMXXKMBAHHS

N) NEBHUN NPOOYKT

K) noTpebun BMLLOro

raTyHKy

(piBHSA)
M) NoYyTTS 3aBEPLLUEHOCTI;
M) cnocib BUpakeHHs
noTpedu
H) yntobreHa ixa
n) piv y TimM, Wo
p) ypaxoBaHun nonut

lll Complete the following sentences:

1 Economics has its own ... . 2 A need is a basic ... for survival. .

3 A want is a means of ... a need. 4 To satisfy this..., a person
may want some favourite food. 5 Sometimes the ... between
a want and a need is clear. 6 A basic need is ... in a want for

a particular product.

IV Match each term in Column A with its definition in Column B:

Column A Column B
1) key terms a) very firm requests for sth.
2) needs b) the successful completing of sth.
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3) wants c) something that you must have in
order to do sth else.

4) demands d) words or phrases mainly used
as the name of sth., especially
ones connected with a particular
type of language.

5) satisfy e) something you need

6) accomplishment f) the activity of competing with
other companies to buy and sell
goods, services, etc.

7) requirement g) the things that sb. requires
in order to live in comfortable
way or achieve what they want.

8) marketplace h) to make sb. pleased by doing of
giving them what they want.

V Answer the following questions:

1 What is necessary to understand economics? 2 What are the
key terms of economics? 3 What does the term need mean?
4 What are basic people’s needs? 5 What is a means of
expressing a need? 6 Is food a basic need related to survival?
7 Is the difference between a want and a need always clear?
8 What is demand?

VI Translate into English:

1 EKOHOMiKa, fK i Oyadb-gka iHWa cycniflbHa Hayka Mae CBIn
CNnoBHUK. 2 CninkyBaHHA, MOYYyTTA KOXaHHA, Mi3HAHHS,
cnogiBaHHA — yce ue noacbki notpebu BULLOTO raTyHKY.
3 baxaHHs — ue cnocib BupaxxeHHs noTpebu. 4 IcHye GaraTo
NPOAYKTIB XapyyBaHHSA, $SKIi MOXYTb 3a40BOSIbHUTU OCHOBHY
notpeby B Ki. 5 MONUT — UEe rOTOBHICTb Ta CNPOMOXHICTb
Kynutn OaxaHy pid. 6 Ockinbkn noanHa Mae obMexeHi
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pecypcu, TiNbkn geski 6axaHHA peani3yloTbCs SK ypaxoBaHUN
nonur.

Supplementary reading

The United States of America is one of the largest
countries in the world. It has a developed free enterprise
economy’. It means that people are able to own? capital and
property and to run their own businesses® for making profit*.
Most economic decisions in the country are made in the
marketplace. Nearly 90 per cent of the goods and services®
produced in the country each year come from privately owned
companies and firms.

Despite® the fact that the United States has a free
enterprise system, government’s role in the economy is so
important that economists describe it as a mixed economy’. It
is an economic system that combines elements of public
ownership® of the means of production® with private
ownership', and elements of free enterprise with government
participation and control.

The USA is a country with a highly developed economy.
With only 5 per cent of the world’s population and about 6 per
cent of its land area the USA produces 25 per cent of the
world’s industrial products, agricultural goods, and services. It
leads the capitalist world in industrial and agricultural
production, leaving the other capitalist countries far behind.

The United States owes' its high level of economic
development to its great wealth of minerals and fertile farm
soil'?, together with a moderate climate'. The territory is
extremely rich in such minerals as coal, oil, natural gas, iron
ore' and non-ferrous metals'. They provide a solid base for
modern industry.

The country has very powerful industries, advanced
technologies, and science. The structural composition of the
US industry shows a marked predominance' of heavy
industry, namely mining, chemical, metallurgy, machine-
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building, nuclear power and aeromissile industries. Electronic
and electric engineering, transport, communication and
machine-tool industries can be found almost in all large cities of
the USA.

COMMENTS

1 free enterprise economy — eKOHOMiKa, L0 I'PYHTYETLCAH
Ha BiflbHOMY MigNPUEMHNLTBI
to own — maTu, Bonoaitu
to run a business — BecTu cnpasy, ynpasnaTu
NigNPMeEMCTBOM
... for making profit — ana otpumanHHsa npmnbyTky
goods and services — ToBapu Ta NOcnyru
despite — He3BaXaloum Ha
mixed economy — 3MilLlaHa eKOHOMIKa
public ownership — gepxaBHa BnacHIiCTb
means of production — 3acobu BupobHmuTBa
O private ownership — npuBaTHa BracHicTb
1 to owe smth to — 6yTK 3060B’A3aHNUM YNMOCb KOMYCb;
3aBaga4vyBaTu

W N

_ 2 OCOo0ONO O1h~

12 fertile soil — poatoumm rpyHT

13 moderate climate — nomipHun knimat

14 iron ore — 3ani3Ha pyga

15 non-ferrous metals — KonbopoBi MeTanu
16 marked predominance — 3Ha4Ha nepesara

Answer the following questions:

1 Is the United States of America one of the largest countries in
the world? 2 What type of economic system does the USA
have? What does it mean? 3 Where are most economic
decisions made in the country? 4 What is the role of the
government in the US economy? 5 What is a mixed economy?
6 What place does the USA hold in the capitalist world? 7 What
does the country owe its high level of economic development
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to? 8 What minerals is the territory rich in? What do they
provide?

BapiaHT 3
| Read and translate
Text

The study of economics is concerned with economic
products — goods and services that are useful, relatively scarce
and transferable to others. The important thing is that economic
products are scarce in an economic sense. That is one cannot
get enough to satisfy individual wants and needs'. The fact
that economic products command a price shows that they have
these characteristics.

The terms goods and services are used to describe many
things people desire. Consumer goods are intended for? final
use by individuals to satisfy their wants and needs.
Manufactured goods used to produce other goods and services
are called capital goods®. An example of capital goods would
be a computer in a school.

The other type of economic product is a work that is
performed for someone. Services can include haircuts, repairs
to home appliances® and forms of entertainment like rock
performances. They also include the work performed by
doctors, lawyers and teachers. The difference between goods
and services is that the services are something that cannot be
touched or felt like goods.

Many other things — sunshine, rainfall, fresh air — are
known as free products® because they are so plentiful. No one
could possibly own them, nor would most people be willing to
pay anything for them. In fact, some are so important, that life
would be impossible without them. Even so, free products are
not scarce enough to be major concern in the study of
economics.
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COMMENTS

1 wants and needs — 6axaHHs1 Ta noTpebun
2 to be intended for — npusHavaTuca gnsa
3 capital goods — 3acobu BupobHMLUTBA

4 home appliances — nobyTosi npunagu

5 free products — 6e3KoLITOBHI NPOAYKTU

Il Find equivalents:

1) goods and services a) cnoXxmBYi TOBapu

2) scarce 6) npusHavaTuca ans

3) to be intended for B) HegoCTaTHIN, AediUUTHUN
4) to satisfy needs and r) pemoHTyBaTK

wants 0) po3Bara
5) consumer goods e) 6e3KoLTOBHI TOBapu
6) a major concern ) NPOMUCIOBI TOBapu
7) capital goods n) NoOyTOBI Npunagu
8) manufactured K) TOBapu Ta nocnyru
goods n) 3acobu BupobHMLUTBa
9) home appliances M) ronosHa TypboTa
10) free products H) 3a40BOSNbHATM NOTPedn Ta
11) to repair BaxxaHH4A

12) entertainment

lll Complete the following sentences:

1 The study of economics is concerned with ... . 2 Economic
products command ... . 3 The terms goods and services are
used ... . 4 Consumer goods are intended ... . 5 The other type
of economic product is ... . 6 Services include ... . 7 The
difference between goods and services are ... . 8 Many other
things — sunshine, rainfall, fresh air — are known ... .
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IV Match each term in Column A with its definition in Column B:

Column A
1) goods

2) services

3) price
4) capital goods

5) product

6) free products

7) consumer
goods

8) scarce

Column B

a) Something in short supply;
not enough to meet
demand.

b) Something intended for
final use by individuals to
satisfy their wants and
needs.

c) The goods or services one
receives in an exchange.

d) Tangible commodities or
merchandise.

e) Work performed for
someone.

Intangible commodity.

f) The money value of goods
or services.

g) Something created to
produce other goods
or services.

h) Products existing in such
large quantities that they
need not be rationed out
among those wishing to
use them.

V Answer the following questions:

1 How can you explain goods and services in economic terms?
2 What are consumer goods intended for? 3 What does the
term capital goods mean? 4 What kind of goods and services
are called capital goods? 5 What is the difference between
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goods and services? 6 Why is it important to study economics?
7 What are free products? 8 Is the difference between free
products and goods always clear?

VI Translate into English:

1 EKOHOMIYHI npoayktn € aeiuuTHUMMU B €KOHOMIYHOMY pPO3Y-
MiHHI. 2 TepMiHM moeapu Ta rocryau BXUBAKTbCA AN
no3HavyeHHs1 6aratbox peden, Wo NoTpibHi nogam. 3 Jlogn
BUKOPUCTOBYIOTb CMNOXWBYI ToBapu, WO6 3ag0BOMbLHATU CBOI
BaxaHHs Ta notpebu. 4 lNMpomucnosi ToBapu BUKOPUCTOBYHOTHCA
anst BMpobHUUTBaA iHWKMX ToBapiB Ta nocnyr. 5 lNMocnyra — ue
poboTa, sika BMKOHYETbCSA AN Korocb. 6 [1o nocnyr HanexaTtb
CTPWXKa BOSIOCCs, PEMOHT NOByTOBUX MpunadiB Ta pisHi BUau
po3Bar. 7 CoHsAYHEe CBITIO, OOW, Ta CBiXe MNOBITPA BIAOMI SK
6e3kowToBHI NpoaykTn. 8 XKXntrta 6yno 6 HemoXxnmeum 6e3 HUX.

Supplementary reading

The third factor of production is capital — the tools,
equipment and factories used in production of goods and
services. It is a produced factor of production, a durable input
which is itself an output' of the economy. For example, we
build a textile factory and use it to produce shirts, or assemble
a computer and then employ it in educating students.

As noted earlier, such items are also called capital
goods?. This is to distinguish them from financial capital®, the
money used to buy the tools and equipment used in
production.

Capital is unique in that, it is the result of production. A
bulldozer may be an example of capital goods used in
construction. At the same time* it was manufactured in a
factory which makes it the result of earlier production.

When the three inputs® — land, labour and capital — are
present, production or the process of creating goods and
services, can take place. Even the production of the service

17



called education requires the presence of land, labour and
capital.

Entrepreneurship, the managerial or organizational
skills® needed by most firms to produce goods and services, is
the fourth factor of production. The entrepreneur brings together
the other three factors of production — land, labour and capital.
When they are successful, entrepreneurs earn profits’, the
return or reward?® for the risks, innovative ideas and efforts put
into the business. When they are not successful, they suffer
losses®.

COMMENTS

1 output — Bunyck, npoaykuid

2 capital goods — 3acobu BupobHuUTBa

3 financial capital — diHaHcoBWMI KaniTan

4 at the same time — y Ton camnn 4yac, BogHo4ac

5 input — dhakTop, L0 BNpoOBagXy€eETbCS

6 managerial or organizational skills — opraHizauinHi abo
ynpasJliHCbKi 34iOHOCTI

7 profit — npubyTok

8 return or reward — npubyTok abo BMHaropoga

9 to suffer losses — 3a3HaBaTn 30UTKIB

Answer the following questions:

1 What is the third factor of production? 2 Capital is a produced
factor of production, isn’t it? 3 What do capital goods include?
4 What is financial capital? 5 When can production take
place? 6 What does the production of the service called
education require? 7 What is entrepreneurship? 8 When do
entrepreneurs earn profit? 9 What is profit?
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BapiaHT 4
| Read and translate
Text

In economics the term value means something having a
worth that can be expressed in dollars and cents. Someone
may say, for example, that he or she has a valuable coin, the
value is determined by the price someone would pay for the
collection.

But what makes some things worth more than others?’
The diamond-water paradox, also known as the paradox of
value, helps answer this question. Early economists observed,
that some things like water were essential to life, yet had little
monetary value®. Other things, like diamonds, were not
essential but had higher value.

Later economists decided that part of the reason was due
to® scarcity. For example, water is so plentiful in many areas
that it has little or no value. On the other hand, diamonds are so
scarce that they have great value. In order to have value, it has
to be somewhat scarce. Scarcity, however, is not enough. If
something is to have value, it must also have utility, or the
capacity to be useful to someone. Utility is not something that is
fixed and can be measured like weight or height. Instead, the
utility of goods or services may vary from one person to the
next. One person may, for example, get a great deal of*
enjoyment from a home computer, another may get very little. In
the end, for something to have value, it must be scarce and
have utility.

Another economic concept is wealth — the sum of those
economic products that are tangible, scarce, useful and
transferable from one person to another. Most economic goods
are counted as wealth, but services are not. The reason for this
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is that it is difficult to measure the value of services accurately.
For example, it is difficult to measure the contribution made by
people’s abilities and talents to a nation’s wealth.

A country’s total worth, then is the stockpile of useful
scarce®, tangible things® in existence at a given time. National
wealth includes all such items as natural resources, factories,
stores, houses, theatres, books, video games etc.

COMMENTS

1 what makes some things worth more than others? —
4YOMY OesiKi pedi KOWTYTb JOPOXKYe, HIXK IHLLI?

2 monetary value — rpowioBa BapTiCTb

3 the reason was due to — npuunHa 6yna BUKNMKaHa

4 a great deal of — 6arato

5 stockpile of useful scarce — 3anac kopucHoro gediunTy

6 tangible things — peanbHi peui

Il Find equivalents:

1) monetary value a) nediunt

2) tangible things 6) uiHHa MoHeTa

3) paradox of value B) 6yTV KOPUCHUM KOMYCb

4) nation’s wealth ) 6yt HeOBXigHUM ONA XUTTS

5) country’s total worth ) 3 iHWoro 6oky

6) scarcity e) 3ararnbHe GaraTcTBO KpaiHu

7) to be useful to ) HauioHanbHe BaraTCTBO
someone N) EKOHOMIYHE MOHATTA

8) valuable coin K) BHECOK, BKIazg

9) to be essential to life n) peanbHi peui

10) utility M) NpUpoaHi baraTcTea

11) economic concept H) napagoKC BapTOCTI

12) a great deal of n) 6arato

13) on the other hand  p) KOpUCHICTb

14) contribution C) rpoLuoBa BapTiCTb

15) natural resources

lll Complete the following sentences:
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1 In economics the term value means ... .2 Someone may say
that ... . 3 Early economists observed that .. . 4 Later
economists decided that ... . 5 If something is to have value ... .
6 Ultility is not something that ... . 7 Someone may, for example,
get ... . 8 Wealth is the sum of those economic products that
are... . 9 National wealth includes all such items as .... 10 A
country’s total worth, then is ... .

IV Match each term in Column A with its definition in Column B:

Column A Column B

1) coin a) The stockpile of useful, scarce,
tangible things in existence at a
given time.

2) wealth b) Goods that are scarce relative to
the total amount of those that
are desired.

3) scarcity c) The paradox that many necessities

4) economic
goods

5) paradox of

value
6) utility

7) country’s
total worth

8) value

of the life have  a low market
price, while many luxuries with little
use have a high market price.

d) The total satisfaction derived from
the consumption of goods or
services.

e) The total value of one’s tangible
assets.

f) The worth of smth in terms of
money or other goods for which it
can be exchanged.

g) A limit to the supply of productive
resources or consumer goods in
relation to the producers or
consumers demand for them.

h) Metallic forms of money.

V Answer the following questions:
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1 What does the term value mean in economics? 2 What did
early economists observe? 3 What did later economists decide?
4 Diamonds are so scarce that they have great value, aren’t
they? 5 What has to be a thing in order to have value? 6 What
is utility? 7 What does the term wealth mean in economics?
8 Are services counted as wealth? 9 Is it easy to measure the
value of services? 10 What is the country’s total worth?
11 What does the national wealth include?

VI Translate into English:

1 BapTicTb BM3HA4YaeTbCs LIHOW, SIKYy XTOCb 3annatue 6u 3a
ToBap. 2 [lapagokc «Boga — pAiaMaHTy», BIOOMUM TaKoX SK
napagokc BapTOCTi, gornomarae BignoBICTU Ha MUTAHHA, YOMY
Oesiki npegmMeTn KOWTYTb [OopoXde, HiX iHwi. 3 PaHiwe
€KOHOMICTU NOMITUNK, WO BoAAa HeobxigHa ANd XUTTSA, NpoTe
Mae Many rpoLwoBy BapTicTb. 4 |HWIi pedi, Taki SK giamaHTu, He
€ XUTTEBO HEOOXiAHMMU, ane MaloTb HabaraTo BULLY BapTIiCTb.
5 Konn wocb mMae BapTiCTb, TO BOHO MOBMHHO 6yTK
nediuMTHUM Ta KOPUCHMM Ons Korocb. 6 baratctBo — ue
cymMa peanbHuX ge@iynTHNX KOPUCHUX EKOHOMIYHUX NPOAYKTIB,
SKI  MOXYTb nepexoauTtn Bi4 OOHIEl JIIOOAWMHM OO0  IHWOI.
7 BinbLWicTb eKOHOMIYHMX TOBApPIB BM3HAOTLCS 3a 6araTcTBo, a
NOCIyrn — Hi.

Supplementary reading

Some societies have a command economy — one where a
central authority makes most of the What, How and for Whom
decisions.

Economic decisions are made at the top and people are
expected to go along with' choices made by their leaders. It
means that major economic choices are made by the
government. It decides goals for the economy and determines
needs and production quotas for major industries. If the
planning body wants to stress growth of heavy manufacturing, it
can shift resources? from consumer goods to that sector. Or, if
it wants to strengthen national defence, it can direct resources
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from consumer goods or heavy manufacturing to the production
of military equipment and supplies.

The major advantage of a command system is that it can
change direction drastically in a relatively short time. The major
disadvantage of the command system is that it does not always
meet the wants and needs of individuals.

The second disadvantage of the command economy is the
lack of incentives® that encourage people to work hard. In
most command economies today workers with different
degrees of responsibility receive similar wages. In addition*,
people seldom lose their jobs regardless of° the quality of their
work. As a result, there is a tendency for some to work just hard
enough to fill production quotas set by planners.

The command economy requires a large decision-making
bureaucracy. Many clerks, planners, and others are needed to
operate the system. As a result, most decisions cannot be made
until a number of people are consulted, or a large amount of
paperwork is processed. This causes production costs® to
increase and decision-making to slow down. Thus, a command
system does not have the flexibility to deal with day-to-day
problems.

COMMENTS

1 ... people are expected to go along with —
cnoaiBaloTbC4, WO Nan npuegHaroTbCA
2 to shift resources — nepemicTnTn pecypcu
3 the lack of incentives — 6pak cTumynis
4 in addition — go TOro Xx; Kpim TOro
5 regardless of — HesBaxatoum Ha
6 production costs — BuTpaT BUpOGHMLTBA

Answer the following questions:

1 Who makes most of What, How and for Whom decisions in a
command economy? 2 Who determines needs and production
quotas for major industries? 3 What is the major advantage of
a command system? 4 What disadvantages does the command
economy have? 5 What does the command economy require?
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6 The command system doesn’t have the flexibility to deal with
day-to-day problems, does it?
BapiaHT 5

| Read and translate

Text

In order for any country to grow, it must have a large and
skilled labour force. Since the size of this force is related to total
population the number of people available for production
activities will grow as the population grows. If the growth of
population continues to decline, it eventually affect the growth of
the labour force. However a labour shortage' could be made
up?by workers from other countries.

There are four major categories of labour that are based
on the general level of skills needed to do any kind of job.
These categories are unskilled, semiskilled, skilled and
professional or managerial.

Unskilled labour. Workers who do not have the training to
operate machines and equipment fall into® the category of
unskilled labour. Most of these people work chiefly with their
hands at such jobs as digging ditches, picking fruit, etc.

Semiskilled labour. Workers who have mechanical
abilities* fall into the category of semiskilled labour. They may
operate electric floor polishers, or any other equipment that
calls for® a certain amount of skill.

Skilled labour. Workers who are able to operate complex
equipment and who can do their tasks with little supervisions
fall into the category of skilled labour. Examples are carpenters,
typists, toolmakers.

Professional labour. Workers with high level skills such as
doctors, lawyers and executives of large companies fall into
the category of professional labour.

Most occupations have wage rate — a standard amount of
pay given for work performed.

How these rates are determined can be explained in two
different ways. The first deals with supply and demand, the
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second recognizes the influence of unions on the bargaining
process®.
COMMENTS

1 a labour shortage — 6pak pobo4oi cunm

2 could be made up — moxHa 6yno 6 komneHcyBaTu
3 to fall into — HanexxaTtn go ...

4 mechanical abilities — 30i6HOCTI 4O TEXHikM

5 to call for — BumaraTu

6 bargaining process — forosipHun npouec

Il Find equivalents:

1) in order to a) rofloBHUM YNHOM

2) skilled labour 6) 6pak poboyoil cunum

3) unskilled labour B) TapupHa cTaBka

4) total population ) NonuT i Npono3unuisa

5) labour shortage 0) HaniBkBanidikoBaHa

6) wage rate poboya cuna

7) to decline e) OOroBipHUM npouec

8) supply and demand k) HanexaTu o KaTeropii

9) to fall into the n) ons Toro, wob
category K) kBanigikoBaHa poboya

10) level of skill cuna

11) chiefly n) IHCTPYMEHTanNbHUK

12) bargaining process M) KiSfiIbKiCTb HaceJsiIeHH4
13) semiskilled labour  H) piBeHb KBanidikauii
14) toolmaker N) HekBanigikoBaHa
poboya cuna
p) 3HMXKyBaTUCA

lll Complete the following sentences:

1 In order for any country to grow, ... . 2 Since the size of this
force is related to total population ... . 3 If the growth of
population continues to decline, ... . 4 There are four major
categories of labour ... . 5 Unskilled workers don’t have the
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training ... . 6 Semiskilled workers may operate ... . 7 Skilled
workers are able ... . 8 Workers with high level skills such as ... .
9 Most occupations have ... .

IV Match each term in Column A with its definition in Column B:

Column A Column B
1) labour a) The price paid for the use
of labour.
2) labour force b) A standard amount of pay
given for work
performed.
3) craft workers c) Associations of workers

formed to promote
the interests of their
members.

4) laborer d) The human effort required
to produce goods
and services.

5) wages e) One of a wide variety of
highly skilled workers
such as carpenters,
machinists, electricians and
automobile mechanics.

6) wage rate f) Generally refers to
unskilled workers such as
freight handlers, sweepers,
trash collectors and

the like.
7) labour/trade g) Individuals, 16 years of age
unions or older, working or

h) looking for work.

V Answer the following questions:

1 What is necessary for any country to grow? 2 What factor
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does the growth of population influence? 3 How many
categories of labour are mentioned in the text? What are they?
4 What kind of work do unskilled workers perform? 5 What
category do workers with mechanical ability fall into? 6 What
kind of work are skilled workers able to do? 7 What is
professional labour? Give examples. 8 What do most
occupations have? 9 What is a wage rate? 10 Can you explain
how the rates are determined?

VI Translate into English:

1 [Ona po3Butky Oyadb-sIKOl  KpalHM  HeobXigHO  maTu
kBasnidgikoBaHy pobo4dy cuny. 2 HAKWO NpUPICT HaceneHHs
3HWXYETLCS, Lie BpeLTi-peLuT BMfMBae Ha 3pOCTaHHS pobo4ol
cunn. 3 3rigHo 3 KBarnidgikauiero € 4YOTUPW TOSIOBHI KaTeropil
npaui. 4 HekBanidikoBaHi pobITHMKM He niaroToBneHi Ans
pobotn 3 wMawuHamun. 5 HaniBkBanidikoBaHi pPOOGITHUKK
NpaulolTb 3  TEXHIKOW, 9dKa noTpebye MNeBHUX  YMiHb.
6 KBanidpikoBaHi npauiBHUKK onepyrTb CKITagHUM
obnagHaHHaM. 7 binbwicte BUAIB pobIT Mae BCTAHOBNEHWUW
piBEHb OMnnaTu 3a BUKOHaHYy poboTy.

Supplementary reading

Prices play an important role in all economic markets. If
there were no price system, it would be impossible to determine
a value for any goods or services. In a market economy prices
act as signals. A high price, for example, is a signal for
producers to produce more and for buyers to buy less. A low
price is a signal for producers to produce less and for buyers to
buy more. Prices serve as a link between producers and
consumers. Prices, especially in a free market system, are also
neutral. That is, they favour neither the producer nor consumer.

Instead, they come about' as a result of competition
between buyers and sellers. The price system in a market
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economy is surprisingly flexible. Unforseen events such as
weather, strikes, natural disasters and even war can affect the
prices for some items. When this happens, however, buyers
and sellers react to the new level of prices and adjust their
consumption and production accordingly®. Before long?, the
system functions smoothly again as it did before. This flexibility
to absorb unexpected «shocks» is one of the strengths of a free
enterprise market economy.

In economic markets, buyers and sellers have exactly the
opposite hopes and intentions. The buyers come to the market
larger to pay low prices. The sellers come to the market hoping
for high prices. For this reason, adjustment process must take
place when the two sides come together. This process almost
always leads to market equilibrium* — a situation where prices
are relatively stable and there is neither a surplus® nor a
shortage® in the market.

COMMENTS

1 to come about — 3’aBnaTucs
2 ... adjust their consumption and production
accordingly — ... TakKuM YNHOM perynioTb CMOXMBAHHSA i

BUPOBHNLTBO

3 before long — notim

4 market equilibrium — puHkoBa piBHOBara (pMHKOBUM

eKBinidpiym)
5 a surplus — 3anunwok
6 a shortage — HecTauva

Answer the following questions:

1 What role do prices play in all economic markets? 2 Is it
possible to determine a value for any goods or services without
price system? 3 What characteristics do prices have in a market
economy? 4 What unforseen events can affect the prices for
some items? 5 What is one of the strengths of a free enterprise
market economy? 6 What hopes and intentions do the buyers
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and sellers have coming to the market? 7 What is market
equilibrium?
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